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1. This B(;oklet contains 200 ques\t'ions in all comprisiné the
following four parts: .

Part A : General Intelligence & Reasoning (50 Questions)
(50 Questlons)
(50 Questlons)
(50 Questions)

2. In questions, set bilingually in English and Hindi, in case of]
discreparicy, the English version will prevail.

Part B : General Awareness
Part C: Numerical Aptitude
Part D ; English Comprehension

N

3. Allquestions are compulsory and carry equal marks.

4, The papei carries negative marking, 0.25 marks will be| 4

deducted for each wrong answer.

5. Answers must be shown by completely blackening the

i corresponding circles of the OMR Sheet against the relevant
question number by Black or Blue Ball-point Pen only.
Answers which are not shown by Black or Blue Ball-point Pen
will not be awarded any mark.

6. . A machine will read the coded information in the OMR Sheet.
In case the information is incomplete or different from the
‘information given in the appllcatxon form, such candidate will
be awarded ‘ZERO’ mark. .

7. - OMR Sheet must be handed over to the Invigilator before
you
candidature will be suspended.

8. . The manner in which the different questions are to be answered
has been explained at the back of this Booklet (Page No. 56),
which you should read carefully before actually answering the
questlons

9. Answer the questions as quickly and as carefully as you can.
Some questions may be difficult and others easy. Do not-spend
too much time on any question.
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Part-A: General Intelligence - ANOSIPTAM2023 o & g gy s a®
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PART-A: GENERAL INTELLIGENCE AND REASONING

Directions (Question no. 1-3): The first two items of each of the following questions bear some-
relationship. Discover that relation and-on the basis of those relations, pickup one item from
choices which bears the same relation with the third word. -

e farder (madwt&:ﬁmﬁ@aqmmaé?qﬁamﬁmmﬁ%l ':W
Ty Y @ior #Y 3R 37wt F IR W, fawedt. A & vF seA g owew dw s &
Y A G&Y gl

1. DRIFT: SNOW :: DUNE:? - 1; DRIFT: SNOW :: DUNE : ?
(A). Rain . (A) Rain
(B) Hill | S (B) Hill
(C) sand - | (C) Sand
(DZ Sweep . (D) Sweep

2. CAT: FELINE :: HORSE : ? ' 12. ' CAT: FELINE :: HORSE : ?
(A) Equine | - (A) Equine
(B) Tiger ) (Bi Tiger
(C) Quadruped o - Q) Quadruped
(D) Vulpine ‘ (D) Vulpine

3. SHOUT : WHISPER : RUN 0 ? | 3. "SHOUT : W:HISPER = RUN: ?
(A). Stay (A) Stay |
(B) Stand - (B) Stand
(C) Wwalk (C) ""walk
(D) Hop ‘ (D) ‘Hop

3 3 s
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Part-A: General Intelligence . ANO8IPTAM2023 HIT &: TAT Y 3ﬁt T

and ‘Reasoning

Directions (Question no. 4-6): Find the answer chonce which glves the same relatlonshlp as is
found between the two terms to the left of the sign.

e er (wesT HEAr 4-6) ¢ agmﬁarqaémaﬁrmm%sﬁﬁﬁa‘nméaﬂta
uet & & urm S B

,

4.  ABCD:EGFH :RTSU:? 4.  ABCD:EGFH :RTSU:?
(A)  UXYW {A)  UXYW
(B) VXWY o | (B) -VXWY
(C) RSWT | (C) RSWT
(D) SRVT ‘ ~ (D) SRVT
_1 5. CEG:EGC:?:VWY 5. CEG : EGC:: ? i VWY
(A) LNP , “(A) LNP
(B) NLP (B) NLP
() Yww () YVW
i (D) LXT | (D) LXT
1 6. 27:3:64:7. . 6. 27:3::64:7
(A 8 - : (A) 8
(B) 32 . (B) 32 , \
(C) 64 ’ (C) 64
- (D) 16 ' : (D) 16

Dlrectlons (Questlon no. 7-8): A, B, C, D and E are sitting on a bench. A is sitting next to B, C is

- sitting next to D, D is not sitting with E who is on the left end of the bench. C is on the second
position from the right. A is to the right of B and E. A and C-are sitting together.

faem forder (e WwAT 7-8): A, B, C, D3R E t% d9 W & §1 A, B & @l & da1 §, C,
D ¥ a7 # ¥or &, D, E & @ a1 do1 § o 97 & AW OR W § Caﬁ#qa%wmw_
¥ A BIRE&F e 3¢ A3MNCwwar 8§l '

7. Whatis the position of A on the bench? 7. S WA FTRIS T ,%?
(A) BetweenBandD (A) B3IRDFdT
(B) BetweenBandC 'B) B3R C & dw .
(C) BetweenEandD (C) E kiicy D & s
* (D) BetweenCandE , ‘ (D) C 3R E & &/
8.  What is the position.C on the bench? 8. _dg W C FT TAH F4T §7?
" (A) . BetweenBandE "~ | (A BIERE® W
) (B) Between'E and'A ' (B) E E}ﬂT A FE
(C) BetweenAandD SR (€) AINRD&F O
(D) ’B‘etweeh"_A and B . , (D) A3dRBF T
4 o3
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Part-A: General Intelligence ANOSIPTAM2023 Her F: gAee i 3 9%
and Reasoning . . )

Directions (Questlon no. 9-12): Fmd the mnssmg numbers
fererr forder (sresr wwaT 9-12) : o HEAd® T @tf?rtrl

. 9. 3,12,27,48,75,... o. 3,12,27,48,75, ..

(A) 106 - " (A) 106
(B) 109 . (B) 109
() 112 (C) 112
(D) 108 : i (D) 108
10. (2.3),(5.7) (11, 13) (17, 19), ..... 10.  (2.3),(5.7) (11, 13) (17, 19), .....
{A) (26,.28) ﬁ (A) (26,28) -
(B) (22,24) (B) (22,24)
(C) (23,25) : (C) (23,25)
(D) (23,29) , (D) (23,29)
11. 1236, 2346, 3456, 4566, ..... 11, 1236, 2346, 3456, 4566, .....
(A) 5686 - (A) 5686
(B) 5676 " " (B) 5676
(C) 5666 ' (C) 5666
(D) 5696 o - (D) 5696
12.  2,3,5,...,11,13 12.  2,3,5,...,11,13
(A) 127 o , (A) 12
B) 6 ' (B} 6
€ 8 ‘ (€) 8
(D) 7 (D) 7

Directions (Question no. 13-16): Study the foIIowmg information carefully and answer. the
questions given below. :

Ream fordfer (wea HEW 13-16) : AT TR, & LAWYEF FTT ¢ A AT Ro
AT gt & IR & S

13.  Iha certain code, MENTION is writtenas .| 13. u& faRad @1s &, MENTION &
- LNEITNO. How is PATTERN written in LNEITNO fr@r sar ¥ 3@ @15 &

that code? N : TR

o PATTERN & forar smar 872

(A) APTTREM " (A) APTTREM

(B) PTAETNR (B) PTAETNR

(C) OTAETNR o, (C) OTAETNR

(D) OTAETRN ‘ : (D) OTAETRN -
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Part-A: General Intelligence - ANOSIPTAM2023 HPTF: TART IR AR TF
and Reasoning . ' : o -

14. If VICTORY is coded as YLFWRUB, how 14. gfE VICTORY & YLFWRUB & ¥9°
can SUCCESS be coded? 5% aﬂ%a R ST %.’ 2T SUCCESS
c , ' | w1 FY FIRT FAT 1 FohaT 82
(A} ~ VXEEIVV ' o BE (A) VXEEIVW
s . (B) VXFFHWV - (B) VXFFHWV
‘ (C) VYEEHVV ° , (C) VYEEHWV
i (D) - VYEEIVV B (D) VYEEIW  *
15. Inacode Iang‘uag‘e,DlST’ANCEis’Written ' 3;5. TH  HE AT #, DISTANCE @&l
L as ODDVNTNE. How is THURSDAY NE X -
written in that language? »ODDVNT.E i‘h@' Sl gl TedI
~ ‘ ‘ 38 o & &9 o S §?
~ {A)} DTVSTEYA ‘ (A) " DTVSTEYA
R = (B) HTTQRYAD L (B) HTTQRYAD
- (C) HTVSTYDA . ! (C) HTVSTYDA
il X (D) HTVSTYAD - s (D) HTVSTYAD
16.  If TAP is coded-as SZO how is FREEZE' 16. 3fg TAP & SZO & & & =ifsa
coded? . fmar oem ¥ @ FREEZE @1 ¥
(A) EQDFYG. . (A) EQDFYG' ~
(B)  ESDFYF , (B) ESDFYF.
(C} GQFDYF : (C) GQFDYF
[ (D) EQDDYD . (D) 'EQDDYD
: i binectibns”(Questip‘n no. 17-18): Pick out the Odd one.
. fram frder (s wEAT 17-18) ; 9IS & I
17. (A) 5 | | 17. (A) s 3,
(B) 27 y , 1 (B) 27
(€) 122 n () 122
(D) 248 O ' (D) 248
§ Lt » . . ) ' ” - ) -
1 18. - (A) Greedy. . 18. (A). Greedy
{‘?’ (B) - Avaricious - (B) Avaricious
(€ Deceitful = | ~{C) Deceitful
(D) Lustful | (D) Lustful
o T ‘ 6 3




Part-A: General Intelligence
and Reasoning

ANOBIPTAM2023 T F: AT qhg 3R aF

Directions (Question no. 19-20): ‘Study the following information carefully. and ansWerkthé

+

questions given below.

Rahul is 10 m west of Bindu. Priya is 32 m north of Bindu. Rahul is 50 m south of Tripti. Tripti is

20 m west of Vijay. Vijay is 18 m north of Jessita..

fear foder (wear WEmm 19-20) : MIfAfRT TEHERY &1 LAEH mma# I A Re

?rnr weAl & 3k &

Fy

' TrgTvr‘i%i?gz-‘r1i0:FﬁaTix‘f?inn;#’r%ﬂﬁ;m’Ti%fgq#32#‘[’!3127&?1???%*!Tlgﬁfgiﬁr@50,:Fi’|2?~

gfEor  §1 g, Ao & 20 Aex YR A ¥ Rown SR A 18 A 36 F B

19. What would be the distance and 19.

direction of Jessica with, respect to

Priya?

(A)ﬁ 20 m, South-East
(B) ‘ 10 m, South

(C) 10m, East

(D) 15, North-West

20. What is the direction of Vijay with | 20.

respect to Rahul?

o)

(B)
(€

(D)

North-East

North -

South-West 4

South

ﬁm#mﬁ#ﬁﬁw@fqﬂ IR

(A) 20 #, afﬁvrqﬁ
(B) 10 =, gf@yor
(C) 10, q&

(D) 15, 3caR-afRaA

Wl & Teest # faog & R
&7 87 |
(A seT

(B) gf@ror-afRas
(€ seR-qa

(D) - gfgyor

e
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Part-A: General Intelligence. . ANOSIPTAM2023 s g g AR a$
and Reasoning

Directions (Question no. 21- 22): In each question below i3 glven a statement followed by three
courses-of action numbered{a), (b) and, (c). A course of action is a step or administrative decision-
to be taken for improvement, follow-up action-in regard to the problem, policy etc.-On the basis of -
the information given in the statement, you have to assume everything in the statement to be
true, then decide which of the suggésted courses of action logically follow(s) for pursuing.

‘

ﬁ&nﬁ‘c.‘ar(mamm-zz) A RT T wedE T F v e R T § Sed 9
AT FEAIRAT FATHT (a), (b) 3R (o) & 7E & FAAE TR e AT TR T ¥ S
THE, Ay AR & g9y # §uR, aﬂa?ﬁmékﬁvmmﬁlmﬁawé
mmﬁ%mqt,sﬂqaﬁwﬁaﬂémﬂmﬁwmmm ar Aok o f
FET AT FrAT F F FA-HT A AR T A HTEROT HA g

/

21. Statement: :Aheavyunseasonal down 21. wya: Rod a RAl & Sk &
. pour -during the last two days has ytaw SRy F T § IERY

_paralysed the normal life-in the state’in. , . f o
‘which five persons were killed but this Sesliae SRR AR AT E

has provided a huge relief to the o uiw @et # Ad @ Wé' S
problemr of acute water crisis in the CIET TSR T & 7R ST g &
state. : e & 98 Tgd A g

\ | Courses of action: RT3t FT HA: . :
fRufay & wier & v s
TRARY FT1 5 FWa AR

(a) The state government should set
up a committee to reviéw the
alarming situation.

(b) The state government should

immediately: remove all the . -(b) T FHER F .TR?J‘ & al
restrictions, on use of portable Rt T A DT 9l F
water in_all the major cities in m X e wel wfet @
the state, . : ?_BT'T geT & e

(c) The state government should L (0) UST WER W U F Fr
send relief supplies to all the Cgwfad gemwt & Agd AHA
affected areas in the state. | i) irﬁ%‘l’l

(A) Al (a), (b) and (c) ~ (Pf)f T (a) (b) 3R (c)

(B) Only(a) ’ ~B) Faw (a) -

(C) Only (b) and (c). ' ’ (C) ae (b) 3R (¢)

(D) .'Onlv'(c) . , (D) ad (c)
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Part-A: General Intelligence

and Reasoning

ANOSIPTAM2023

HOT&: §AT g 3 aF

22w Ao Fo avl & R T &

© 22. Statement: The school drdpoUt rate
in many districts in the state has wS el & Ther @ET 7 av F a9
incréased sharply during the last few ' e . o
years as the parents of these children q e §é € Tl §7 qedl & A
make them work in the fields owned by R 3¢ gt & wrfded arar el #
the others to-earn enolgh for them to FIH F & T AT A ¢ arfer
get at least one meal a day. ReT & &7 & &7 TF TAT 7 S
Courses of action: T Y ¥ T ‘TRfWH a;m—é T
(a) The Government should put up a 5| -
: mechanism to’ provide food P
. grains to the poor people inh ) ] ,
these districts through public (a) ‘ TRHER B 51 et # Adetferes
distribution system to encourage ARoT yorrel)y & Arew-d e
the parents to send:their wards AR & WA 3UTeY ey
to school. ¥ RU o wld e
(b)  The Government should close TIfge mﬁ; AT-Oar 3y ’
down some of these schools in Tedat F T S ¥ T
the district and ‘depldy the. - N
teachers of these schools to . & #l R .
nearby - schools: and also ask (b) f’””[ e & @ s ﬁ
‘remaining: students to join these §¢ & oo Tifge 3R =¥ E,z—(‘ﬁ
schools. & e ooy F et #
(c)  The Government should issue AT T @fge AR A o
arrest warrants for all. the ar off 5 Thal # efder g
parents who force their children ¥ v s WRT|
to work in fields instead of © W N 3T T AR
attending classes. - ‘
qMET S A9 qoal F Hams
) # IS & g Wt F e
(A). Only (a) (A)  aer (a)
(B)  Only (b) (B) “¥Faer (b) :
(C)  All(a), (b) and (c) * (C) g (a), (b) 3R (o)
(D)  Only (c) (D)  &aer (c)
3
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Part-AfGenera1.zlnte‘lligence .~ . ANOBIPTAM2023 ; 'am.Ta?: mgﬁaﬁt a&
and Reasoning | . »
> Directions (Question no. 23- 24) From the glven answer flgures, select the one in which the

. © question figure-is hldden / embedded, o .
" _ﬁ%rrﬁﬁ?r(mamzs—ﬂ) mmmmﬁ@rWWMWWﬁ
forersl oot Jnpfy BWART &1

! 23. I 1 423,

R Il - @

®r [T ' : (8) )
s ) .A (C) 3 ’ . = K “ | ‘(C) =~ 2
- o T : R N ‘

(0) A U

R 2. F 7 ‘ -

ﬁi; . .‘ (8) @i 5 _K(B'? é |

@ I N ——~

{A)

57

AN
LY.

i eI | o RS

-
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Part-A: General Intelligence ANOSIPTAM2023 . " E: e gy 3R &
and Reasoning '

Directions (Question no. 25-26): If a mirror is placed on the llne AB then which of the answer
figure is the right image.of the given figure?

farar forder (wesT HE&AT 25-26) : aﬁwaﬂwﬁ@wwmmﬁﬁa%ﬁmm
ﬁﬂémwaﬁrqﬁﬁﬁﬁv

. - A
25. 2 25. _ %
— B B
(A) . , “ . (A) .
h S— . S—
(B) . (B) . ‘
o a—— ho—
< [  [_—_
| =— hS—
D T— €<—— |
— <— |
(P) < , (D) .
: —s p—
<— <
26. Q—] 26. g___’
ATTIW B - . Ams
(B) ' (B)
e e
" o e




Part-A: General Intelhgence . ANOSIPTAM2023 HIT &: FART gfg AT aF
and Reasoning

Directions ' (Question- no. 27-28): Study the followmg mformatlon carefully and_answer the
questions given below.

Ajay is 14 m west of Balaji. Chandra is 17 m south of Ajay. Dlmple is 16'm west of Chandra. Edlnlt-
is 30 m-north of Dimple. Gagan is 23 m south of Balaji. Faryad is 30 m east of Edinit.

far frder (wed wEAT 27:28) : ﬁmﬁ@amﬂmmmmﬁaﬂtmm
AT g & 3ear &

IS ST A 14 FAex aRaw F & 9, m#ﬂr—huafﬁwﬁ%l%qa dgr ¥ 16 A
g H Bl u%ﬁz%qar#wsﬂam#%l Wamsﬁﬁmﬁmafawﬁ%lm

trf?,ﬁfﬁwmamz‘rﬂ%’l

27. What is the shortest distance between [27. wxag I W & T AdA ey
Faryad and Gagan? T &2
(A) 25m (A) 25 &
(B) 27m (B) 27 #r
(€ 36m’ - (€ A -
(D) 28m - (D) 28 =

28. Four of the following five are alike in 28. FAQf@d Uig # ¥ IR Th ICIERG
certain way and hen;e, form a group, . iy & A ¥R 3‘91%& T TG
find the one which does not belong to .
that group? ' 37‘“'3 & 3'6" AT & S 39 AR '\ﬁf
(A) Ajay-Faryad - ‘ (A)  3cE-HaTE
(B) Balaji-Edinit ' (B) arersh-URfE
(C) Dimple-Ajay (C) a3 f
(D) Chandra-Balaji : (D}. GBI

Directions (Question no. 29-30): : Inthe following question, select thé number which can be placed
.at the sign of question (?) from the given alternatives.

frem e (wee wEaT 29-30) Prefaf@a v 7, mmﬁwﬁﬁ%maﬁcm
qea(?)%ﬁawwmm%l

(A) 10 ‘ . (A) 10 R

(8) 12 " (B) 12

(C) 14 (c) 14

(D) 16 (D) 16
. 4 . & 12 | 30.

AN /\ /\ /\
' 9 6 11 9 1 13 .

S : (A) .

(8) 78 R R (:)) 78 o

{¢) 108 © (€) 108

L) 90 (D) %0 - ‘

12 ' ‘ ©8
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Part-A: General Intelligence " ANOSIPTAM2023 9T &: AT gﬁ{ st %
" and Reasoning '

Directions (Question no. 31-32): These questlons are based on the followmg information.
There are 8 members T, U, V, W, X, Y and Z |n a family. Z is grandfather of U and father of X. Yis
mother of T."V is mother of U, and wife of X. T is sister of X. W is mother of V. Uis sister'of S.

Rram fordar (west WG 31-32): T weA ARG AHHE W IR ‘
T MNaR F 8 TET T, U, V, W, X, YIR ZE I Z U ger g iR X s Rar &1 Y, T #r
AV, URATEIRX AT TN T, X aET &I W, VA AT §I U, S & a5 &

31, How Tisrelated to S? 31. T, S ¥ fhu yoeR weftd g2
() Aunt (A) ey |
{B). Mother - ' (B) &T
(C) . Sister . o {€) g
(D) Mother-in-law (D) I -
32.  How Xis related to W? ‘ 32 X, W9 g YR gd0d &7
(A) Son * (A) e
(B)  Son-in-law : (B) g
(C) Brother S (C) &m$
(D) Father. (D) fOar

Directions (Question no. 33-36): For the\:beIOWing questions answer them individually.

fyam frer (weeT TEAT 33-36): MrATAt@d T F 3w JTETET-3TeleT E‘.I

33. From the glven options, which answer 33. fRU v R[eeal § & a8 & RBr 7w

fi.ig_ure. c;:\ be ff()_rmsd by folding the fawedl & A FT W@ 3] m
given in the question: N FATS T ThaT 872
- 1 *
63|45
"2
A T " - (A /1
6 | 6 |7
® /3, ‘ | B L ‘
. 2 - « 5 2 .
Pz . e /7
3 4 . 3 4
(D) 2 ~ (D) 2
16 1 6 1
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Part-A: General Intelligence
and Reasoning

ANOSIPTAM2023

ST WA 9 AR aE

-34. A paper sheetis made into the following | |34 W& IW de meata@d ¥t (A) #
pattern (AY. Find the cube that will best s S ¥ a8 ud 3% 3 FETE (A)
represent after folding the paper (A). .

' T A5 F d5 9 ISl t;rfaﬁi'ﬁ?a
HLIT|
3

(A
(B)

€.

; (D)

2,3 and'4,on|y

=

o

1 2

3

"4

1, 2 and 3 only

1,3and4only -

2 and 3 only

(A) &aer 1,274 3
(B) ¥Faer 1, 3 Td 4
(C) a2, 3T 4
) w23

35. Three, different /pojsition‘s of a dice are | 35.
shown below. Which number appears A R TS %I dear 4 ¥ fld
on the face opposite the number 4? ,‘ ' . /
‘ e I e @ HEan @ & e?
5 /. /6 /1/
31 [, |1 5
2 1 4 |, 2 )
(A) 6 (A) 6
(B). 2 (B) 2.
(C) <5 (€ 5
(o) 3 (D) 3
14 =

i
i

— 4 poe
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Part-A: General Intelligence

and Reasoning

ANOBIPTAM2023

HT F: TR 3% 3 af

. questions given below.

maﬁwmﬁsﬁawé%ﬁt#_
HIgH T AT HHRAT B

36. Select the cube that can be formed by 136
folding'the given sheet.

’ s
F
‘ B
& | » | @
. S S
A | g |& W[5
B, ) ‘B
® |F|& ® [F|&
e/l . @
© [g]S - © [g]S
& | L&
© |e|B | . D) @B

Directions (Question no. 37-39): Study the following information ,carefully‘yand answer the
T ' *

A-certain number of studénts are’sitting in the row. All of them are facing towards north. B sits

. sixth from the right ‘of D._E sits fourth to left of B. Only two students sit between B and A. C sits
. fourth to the left of D. F sits between D and E. G sits second to the right of F. His third from any of

the end. D is éight from the left end of the row. Six students sit between H and G.

R fvder (mesr war 37-39) : PEARRRT SEER F1 CaECEE FRET FE AR A R
AT 9l & e} S| . :

T e W A om e A W TN W A@ seR IR YI B, D F A A o5
T W B E, B & a1 ¥ 9t T X §1 B 3R A & T daer o o 35§ Bl o o)
| 3FH A1 DT F A R ed WA R EI H IR G S o o o &5 £ |

o5 . 15

37.  How many numbers of students could | 37. GfFa & frae Tear & o 35 g &2
sit in the row? ' "
(A) 14 : (A) 14
(B) 18 : S () 18
() 15 (). 15
(D) .20 - : - (D) 20
38.  Whatis the position of 'H' with respect to B? 38. B & Hegd H 'H' FT TR FAT §?
(A)  Fourth to the right (A) & 30T aler
(B)  Fifth to the right (B) &g 3T grwar
(C)  Fourth to the left (C) orff sk gter  *
(D) Eighth to the right (D) e 3R 3mear '
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and Reasoning '
35, Tf J sits immediate right of G, then how | 39.

ANOSIPTAM2023 . Tr: ¥WHT iy 3R aF

IR J, G & [@head a¥ dodl g, af
many students sit between J and A? JIRAF I ﬁ-ﬁﬁ o agg -3*) .
(A) Five (A) i
(B) Six ‘(8) BE
(C) Four () =} .
‘ (D) - Three (D) &= _ .

Directions (Questlon no. 40-43): Study the -following information carefully and answer the
questions given below :

Seven people T, U, V, W, X, Y and Z are seated around a circular table. Four of them face outside

" the table. while others face inside the table. Not more than two adjacent people face the same-

direction. Z faces outside and sits immediate left of W. Three people sjt between W and T who is.
adjacent to'Y. U sits third to the right-of V. W faces inside. Y faces the same d|rect|on asX.XandV
face the same direction.

%erﬁiar(maa'@rr4o-43)ﬁmﬁ@amﬁwwmmmwaﬁaﬂwﬁﬂmmm;ﬁ%
3eaRel -

g ARIT T, U, V, W, X, Ysﬂtzwmﬂmﬁaasamm%%lmﬁ AR {E AT & T8
S R 31 T HE A & 3T §1 AT F AR e wﬁaﬂwmwé’rf&eﬁﬁaﬁr%lzww
maﬁraﬁw%"sﬂ'{a@'w#maﬁmaﬁ %lwsﬁv%aﬁ'ﬁr?ﬂﬂmé\?% AYFFRCEI U, vV
ar& 3R Ay T W dar ¢ waﬁrmmaﬁ‘raﬂr%l Y SATX & FAT AT R IHRY X IR v A

I AT feem A 3R e )
40 Who among the following face putside | 40. ﬁmﬁ@ﬁﬁﬁﬁﬁﬁﬁf%mﬁﬁ'{
the'table? - AT Y '
() T (A) T
'(B) U (B) U
(€ v Q) v '
(D) None of the above (D) IR HJ IS TG
41, In which direction X is seated with 41. T & HHHFX ﬁmmnﬁa"ar%?
| respectto T? - .
(A)  2"to'thé right (A) arfelr 3R gEw
(B) immediate left (B) & av
, (C) - 3" totheleft (€) =18 3R e
: (D) None oftheabove (D) 3IWREd #F q FS Aol
42. Who among the following is an |42, frfef@a A F T Y &1 ﬁm
immediate neighbour of Y? : q-g}m%q
(A) X (A) X
(B) W (B) W
(C).. . € Vv
(D) U - (D) U
43. How many people aré seated between 43, VHEEINRATMATIRZ IRV &
| Z'and V, when counted from right of V? . DT Ay A s §2
| (A) None A wg aET.
- (B) Two ~(B) &~
" (C) Four (C) ar
‘ (D) Five () wmr |
16 ' o
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ma;:mgﬁsﬁi’a%

Directions (Question no. 44-4
. questions given below.

6): Study the following information carefully and answer the

Point P is in 27 m east of point Q. Point R is in 18 m south of Point Q. Point P is in 36 m north of
Point S. Point U is in 30.m cast of point V. Point T is in 54 m south of Point U. Point Sis in 27 m

west of Point T.
fram frder (wed HEAT 44-46)

T 9ot F Ieek &
g P, Rig Q ¥ 27 #ex 73 # #1 Mg R, Rig Q & 18 Aex afewr # §1 Mg P, Rig s H 36
X 3R & ¥ g U, Rig V F 30 #Aew &1 gff W 71 [ig T 54 Fex Wp fag U & gfaor -
#1 fig's, Mg T & 27 #lex aRaa # 71 )

;. PfRd el & LegEs Heaad & AR A U

17

44. In which direction is Point V with | 44. | fig s & e & fig v e faem #
respect to Point S? )
(A) North-west (A)  zeax gl )
(B) South-east (B) =fayor o
(C) North (€) - Iew
(D) North-east (D). zcax q\z-'r

45. If Point A is in 18 m séuth of Point U |45. afy Rig A, fig U ¥ 18 #ex gfaror
then, find the shortest distance Yy oar ﬁ% P 3k 1%% A ¥ 9
between Point P and Point A? . ’ ‘ .

FgAGH gt A RfIw?

(A) 36m (A) 36
(B) 27m (B) 27 #r
(C) 18m (€) 18 =
(D) 51m (D) 51.#°

46. Four of the following five are’alike ina | 46. =df@d v & & IR W IGIEEGE
certain way and so form a group. Find NF ¥ g § IR T T e -
the one which does not belong to.that , - ~
aroup? gAd &1 98 @ ffor S 3 T

¥ T Tl 87?
(A)  U-T (A) U-T *
(B) SR (B) SR
) TQ (€) TQ
(D) S-V (D) SV
=
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aima:‘zrm-gﬁ 3R a%

Directions (Question no 47-50):. Study the following alphabetic series carefully and’ answer the
questions given below. .
PVBNHGXKJNXJAESQWERPMIUTRLOE

- fyerr forder (weer WEAT 47-50) :

few arw yeAt & I &
PVBNHGXKINXJAESQWERPMIUTRLOE

47.

48.

T

50.

How many letters are there in the series
" which is immediately preceded by vowel
succeeded by .

and immediately
consonant?
{A) One

(B) Two
(C)- Three

(D) ‘More than three

/

WhICh of the followmg letter is 9th from
left of ‘U’'?

(A} A
(B) E
(€ s
(D) Q

If all vowels™ are éliminated from the

series, then which of the following letter

- i$ 11th from right end?
“(A) N

) X '

(D) S

Seven Painters are-sitting in a line facing

North. A sits one of the ‘extreme end.
One Painter sits between D and B who.

sits next to A. Two Painter sit between D
and C who sits right of F. E and F are
immediate neighbours of D. What is the
position of E from left end?

(A) Séconq
(B) Third
(C) © Fourth

(D) Can't be determined

47.

48.

49.

50.

ﬁmﬁf@ammwmﬂqﬁmﬂaaﬁaﬂrm

mﬁ@mam%mm
Je& TR 3R &F a5 sdereT &7

" o
B) @
© =

(D) & & R

PR & ¥ @ o e U
it T @ 9ar §7

(A) A

(B) E

(Q s

(D) Q

o swer ¥ Wl wR g Re S

a’rﬁmﬁf@aﬁ#ﬁﬂmamm

BRI 113 &2
(A)
(B)
(C)
(D)

n XN Z

i AR 3eeR H WX AW wWE
F Ui #F 45§ A dAH SR W
$o1 1 D 3R B, 3 A & Farer F dar
¥, % 9T v AFeR doar &1 D R
C, s F & aré 3¢ doar ¥, & @17 @
Raer S & E 3 F, D &
e R §| At B @ E @
U F47 §7?

(A) gET

- (B)  drar

© =@
(D) T 8T forar S -HehaT

18



—— -

.
e

L -

Part-B: General Awareness

ANO8IPTAM2023

HITF: WA SATRwell

A1 T AT APRAHAT

PART-B: GENERAL AWARENESS

TR Hhel SATEHIAF Yo AT a9

51. In ord‘ér to implehﬁent a successAfuI 51.
professional. fee policy, the travel , : X
, w3 & fIT, amEr aaEer o ag
consultant should: ‘ ‘
AT IIRT:

(A) “Calculate the real cost and (A) qIEdfas deTT ITOTAT &

increased number ofclients4 , | . . .. .
S - 3R gl i wewr A gfy
. | = ,

(B) Provide high .quality service, be * (B) 3T T[urECAT dTell FAT UET WY,
aware of operating costs and IR ST @ i T? ey
consider these costs as an ] A ]
. _ 3 ARTAl & U f@der & &7 &
investment-

HIe |

(Cj Sell only to corporate customers (C) aw H9Re aEst Fr a

(D) Selt only high priced products and (D) aw 3= AT T 3 3R
destmatnor_ms Sided a9

52.  -Buyers of bulk rentals-who resell to the 52, 'c?:rfa-‘aﬂ?r ¢ad  Uae &l gﬂﬁm

individual travel agent are called e e

FIAATE AR & GIGRT H e |
STt
(A) Tour Operators”™ ' -+ (A) s HATIET
(B) Brokers (B) zemer - ;
(C) Bulkers Q) o
(D) Travel Agents (D) =T Tae
3 19

J
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T @ THAT STIRhT

. 53.

55.

()

You have two possible itineraries from
A to B according to the map; how do

you find the fastest journey?

Looking at the map gives you the

shortest distance

+

Travelling along the bold linés ‘is

(B)

“the fastest way

(cy

Work out specific trains one by

one

(D) None of these ~

Which body of UNO gives advisibry‘
opinidn on legal matters to the bodies

and special agencies of the UNO?

(A) " Trusteeship Council
(B) Economic and Social Council
((:‘C) Invternationalg Court of Justice

(D) .The'Sec'urity Council

Which  resource  will give you

information about social customs,

languyage and population?
(A) Hotel and Travel Index
(B) OAG Travel Guide

()
(D) World Travel Guide -

STAR ‘

53. mﬁj%yﬂw.m'mA@B

. &% @ @R e wREA § A
T A AT S gad 87 |

AR W SE § A w

w7 g8 el ¥

des. WAt & WU an ww

way A e ¥

T a0 AR W

- e .

T & A

(A)
(8)
@
)

“UNO @ “&iwar @@ UNO ;ﬁs'
ot R Ry wiREt @ s
HFAF TR FemgERT I & 87

(A e R

(8) 3nfiw wd FAfSw WRwg
(O st mmEE
R p—

154.

{

.

55. @ W HEMA JHUR. AANSE
| o S g |
@
(B)
©
(D) faea @ Mgs

e

TS AT Es

TR

20 ' b 3
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T @: WA ST

56.

57.

58.

The highest and most often quoted rate

i,
is called a

(A) Promotional rate

" (B) Corporate rate

(C) Deluxe rate

(D) Rackrate

What alternative form of transport put

cruise ship into decline in the 1960's?

(A) . Greater use of ferries

(B) ‘The increase in usage of the
motor car ‘

(C) ‘The advent of the jetliner

(D)- Néne-o,.f the above

Which of the following are not to be

regarded as touris;cs according to the

recommendations of the World

Tourism Organisation? |

(A) Diplomats travelliné between
their couﬁtry of origin and duty
station..

(B) Cruise passengers
(C) Pilgrims

(D) Visiting friends and relatives
. 3

56.

.57.

58.

3TadA AR Tsd 3RE IR Iga R
T gl Sl § -

-(A) TR &

(B)’ ﬁcﬁizaw;

(C) ‘s’jlmat;

(D) Y& &

1960 & gAF H YRagd & fha
Wwﬁa@m;aﬁmﬁ

(A) @ret @ 3fw T
(B) mtw%mﬁaﬁ

(C) SieaTgeR I HETHA
(D) 3o & FE o Al

fsg wdied dood @1 RAwiRket &
IR fAefafad & @ fFe 9dew

A maﬁmamﬁ’a@r & 3N T7d

I & g I W W L
(B) spor amr

(€ et arfyii
(D) areat 3T Redant & Frem

21
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AT T G ARl

59.  Theterm “Incentive. Tourism” denotes. 59. "gicHed gded" s aaﬁaT -1 .
i (A) A travel  rewarded with (A)  wHARE & WY QA AT -
' commissions’ ,
(B} 'Travel that has been paid for by a (B) =g amar for@e sprarT faedy oot
firm as‘a reward to employees ‘ AT ﬁ'énﬁ'a’f N TEFR F €
B ‘ & o A :
| (€) .Travel stimulated by inducements (C) qa‘ram’r g O amr . /
| (D) Travel using vouchers to. cover (D) IFT H g T I S AT
spending enroute TS ¥ DT T FT STI
B 60. The submarine museum which is the | 60. af@ior URRT & Il RE F1 ugdr
first of its kind in South Asia is situated ysedt GURTaT Tt feud &0
in . 2 .
(A) Hyderabad (A)  BeXrETg
(B) . Vijayawada (B) Rergamr
. (C) Visakhapatnam Q) . femEed=a \
(D) Bhimunipattanam (D)  AfATzA
61. The wholesale tour operator uses the 61. zﬂw AT ﬁmﬁ’@a H O 5
. yield management for one of -the - & ﬁvl‘l’ ITSTYSET  F SQ‘Q’I'JT
following: ‘
, AT 8 -
i ». (A) Lowering the price to meet (A) @ #T W &+ & o
expected demand AHT FH FET
. (B) .ncreasing the price to meet (B) 3nafgya &= & By S ¥ v
' " expected demand- AT TG
e {C) Maximizing the-productivity (C}) 3Fcureandr & NSTH FIAT
(D) Maximizing the  customer’s (D) ogw r BT W N0waw
expectations ¢ o . :
62. What s the IATA code of Port Blair? 162, dicsaAT &T IATA HIT Fag?
. (A) IXB ' (A) IxB
(B) PBR . S (8) PBR
1 (C) IXZ € Ixz.
(D) PRT (D) PRT
' 22 £3 .
! o
E
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63. * Identify the Indian “Café” .bran’d '63. m@u HIbT WS# F HY
originated from the State of Karnataka TRt FEEe SeeE 5T @
competing with the international coffee . .
chains. :

: el
(A) - Costa Coffee (A) ~ FreeT HIH
(B) Coffee Café Day (B) oprhr &htp 3
(C) Barista (©) sfR=ar
(D) Star Bucks (D) ¥R &g

64. Government of India conducts national 64. . IR WHER & G H T TR F ¥
level hospitality training under the TR SRETOT IS Ty &
ambit of . ‘

(A) National Council for Hotel (A) JAwFad FERAFT WK ged

v Management and Catering Ase ‘Q‘s’ T Serars

Technology R
(B) Federation of Hotel and «(B) %aley 3w g]w e ENT
Restaurant Association of India AR e R
(C) Central Board of Vocational and €) 7 caaRe iR Acads
Secondary Education - e S|
(D) .Indian Institute  of  Hotel (D) HRAT glcd Uat JEUT|
Manage‘ment ‘

65.  Which of the following is an essential | 65. FeREa § @ saw w@eT.
element of any technical definition of Ay gy & URSST FT UE
tourism? )

(A) Expenditure (A) = ,

(B) Mode of transport (B) uR@ga & &=

(C) Purpose of trip ((f) I FT 38T

(D) Type §f accommodation (D). & F YFR
(C: 4 "23



N

e,
3

Part-B: General Awareness AN08IPTAM2023 1T @: WA SITITEhell

. , 66.  When they walk into your travel |66. aa‘ & 3T9% IATAT SgaaT ﬁ ;raqr g
' business, customers expect to be ¥ TEw Iderr aRa ¥
(A) .Left alone to check out. the- (A) 3roer dF W Icaief @ S
products on your shelves - F AT 30veT O fer T
| (B) Attended to -professjonally and (B) ey M fawm & § s
| courteously ' ’ B
(C) Given a number and asked to wait - QO uw= a¢ fear 3l wuelr ady @
. theirturn | SR G F T
o (D) Handed a bunch of brochures (D) FAdwaE "Ry dklt @ gEew
f ' . listing the-latest “special deals” . F O SR T Il gfar
67.. Regional - and  national tourism 67. &Y 3-ﬁ¢ TS qdeT W
organization are set up mostly to ‘ sRFar Tufid Y m %-
[F i | (A) Provide infrastructure marketing | (A) el &7 F Faad FE F @OT
P and product development support ) SO o e iR Iag
' © for. the private sector to do - F"’ .
ﬂ} business ‘ 7 W ¢
Rk . ¢ (B) Deal with other branches of T (B) 3w dr s Ol CE o)
{{ o governments in solving industry , F W/?ﬁf =T e ¥ AT
=] & . %
H . . problems : s
}1 X : AR
L (€) Provide training and research, (C) wfweor v 3@8‘2113 EEACHECTS
L (D) Allthe above (0) zuRrF welr
‘?» | 68. When a client crosses the International | 68. i RS IEE - URIA H AR I ]
A " Date Line travelling west, which of the: — §U i AR Y@ # R
¥ " following statement is true? .
Cok & . . W%Eﬁﬁmﬁiﬁaﬂ#ﬁam_
(A) The client loses a day (A) IEw M UE [T @ W grar
(B) Theclientgainsaday “ (B) wTEeh W U T N AN @Il T
(C) A change in time depends upon (C) TRIT & qfadd 3T & UPR W
" the type of flight - yoiT T ¥
(D) None of the above . (D) zH @ FS oA e
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T @ AT STRTSEHAT

69.  Which country’s currency is the Zloty? | 69. Soier Ry e &r ;iar‘g,“?
(A). Russia- - (A) w7 .
(B) Hungary (B) Farlr
(C) Poland () s
(D) Czech Republic -(D) <& Rufeds
70. Who among the following formulated 70. fA=af@g & ¥ Faa Hn?h'q
: the concept of poverty as a measurable m@q F muy 9hy e
development indicator in thé Indian i ) ’
S Ghdd & T H IEr hT HTUROT
subcontinent? ,
GEirsC oy
(A) Dadabhai Naoroji (A)  Ererems AR '
(B) Romesh Chandra Dutt (B) AT °g Ecad
{C) V:K.R.V.Rao , (C) drFmd. 9
(D) M.Ranade (D) ©H. TS
71.  Which one of the following would be | 71. faw=faf@d #A T Y ycgeg fadah
considered  as  Foreign_ Direct e
Investment? '
(A) A foreign company buying shares (A) ts fadel Ul 9RG & Wi
in stock exchanges in India TS § R e W
(B) A foreign country pension fund (B) R R SR H AT F - )
investing in Indian stock markets aTeT T TRl & SenT v
(C) A foreign merchant banker buying - {C) e fadRh A dW HARAT T
shares from Indian stock markets | - g ¥ R e @ d
(D) A fo'rei'gn entity setting up an (D) we fE d&r aRa #
educational institution in India derOE  Eeue  ERE &%
W B
> 25 i

ey e g——" e e
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72.  Which of the following is the first |72 AafRg & ¥ Pl TaT HRT &
multipurpose river valley project of the ' Ty @ 35 A o R 37
independent India? - > .
(A) Damodar Valley.project (A)  E@EET g aRASEr
(8) -Rihand project ' (B) Reg ufarsmEr
(C) Hirakud project (C) &Rmps qRASTAT
(D) Bhakra-Nangal project (D)  sTrET-aAieTer URESTeT
. .

.73.  Which Nobel winning. Scientist is | 73. - f&¥ ;ﬁa'_(,r. foar dafaw @ guH
credited with the synthesis of the first N & geaner & ,}-q ﬁ\‘é:lT
artificial gene? © : e T
. ST 2 .

(A) Venkataraman Ramakristinan (A)  FerexA TFAFSOTA
'),(B) Thomas Steitz + (B) oufHE el

(€} M.S.Swaminathan (C) uA.TH. WHARA
- (D) Har Gobind Khorana (D) & Nfele Q=

" 74. The correct expansion for HCIL is 74.  HCIL &1 @8 ﬁ'z:an g

(A) Hospitality corporation of India (A) giReTEfad sRORy 3w $Ear
_Limi‘fed T ,
(B):  Hotel company of India Limited (B) greer &uelr 31w gfsar fafRes
(C) Hospitality company of India (C) gireuefad &y A s
" Limited e . ' “
(D) Hotel.corporation of India Limited (D) g Fafeer 3w g

'75.  Which of the following Central Public 75. PeeRa 7 F m FET FEATAR
Sector Enterprise (CPSE). accorded &g 33'53? .(CPSE)"' A 21 fBE
‘Maharatna’ status on September 21, L _ o
oo on S 2022 P "FERET FT gl T ITAT?
(A) Rural Electrification Corporation “(A) AT ﬁagzﬂww Ao fafdcs l

Ltd. ' .
(BJ Bharat Electronics Ltd. ‘ (B) #IRT oA fafAes
(C) Container Corporation of India (C) &FeR  ORye e gfEar
(D) Hindustan Aeronautics Ltd. (D) %gﬁn;r wRATFE e
" 26 < | ‘8

T N SR AR N e BT &
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‘ STFTE' AT SPTwRehdl
76.  With reference to project Dolphin, 76. Wroige gifewsd & dHed A,
which of the followmg statements is PrRfRT § ¥ s wue @ 22
correct?
(A) Itis a 10-year project on the lines (A) =g a'é\‘r AR mqj’r qﬂi‘i%z]ﬁa;
_ of Project - Tiger to conserve a7 aet & gm ¥ T F
dolphins in both riverine and . o ‘ i '
marine ecosystems. ' fere TR A d W
10 arer &1 gRAsEr gl
(B) The Ga‘ngetic') dolphins  are (B) IUCN T ¥ & 3IHq@R fem
o categorised as “Vulnerable” as per SIwT @ "IeEREae Avh & @
the IUCN Red list. _. > ‘
, | | T E
i (C) It will be implemented by UNEP . € =¥ fawg & @ iR ‘Fq'—cr
with partial funding from World qNoT & WY quAsd  ganr
Bank. . -
ank. . Frf=ad fFaT FTTem|
(D) It envisages a Dolphin Action Plan - (D) sud 10 ant & -sfay 9w
to increase the population of e @7 JEET gaHET 600 §
Gangetlc dolphins from 600 at _ ‘
present to 1800 W|th|n 10 years. Ivg”[ 1809 W & fov
' r 7§ §1
77. Who was the ruler of Bengal when the | 77. 5 'sfohgle’ UeATaEr a9 S9el T
“Black Hole” event took place?. oTEF FeT 4T
(A), Sarfaraz Khan (A) TS @
(B) Murshid Quil Khan '(B) e ferer @i
? - (C) Siraj-ud-daula (C) ﬁ?@ﬁm
v (D) Mir Qasim D) #Hx FfEH
78. In which continent is the Atacama 78.  3CIHIAT HATEAT ﬁm‘ maii’rcr 'ﬁf
Desert located? ' ' feorg &7
| (A) Asian Continent (A)  wREE AgEedy.
| (B) South American Continent (B) afaoramﬁzﬁrﬂg[a@q'
! (C) South African Continent (C) fEror 3nfrhT FeTed
(D) North American Continent (D) 3eay AN Hgﬁgﬂq
27
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79. Doddabetta peak is located in which | 79. -Sigger Xy frw qdd s@er # TR
mountain range? )
. (A) Himalayan mountain range (A)  fRETe qé?r HEHT
(B) Satpura mountain Range (B) Haq3T Udd HWell
(C) Aravalli mountain range Q) 3RTEe o alqu
(D)- Nilgiri-mountain range (D) ;ﬁaﬁrﬁr Wé?f’&[@?ﬂ
( 4 L : .
80. Where is the “National Gallery of 80.. "AAAH Aoy Iw AT A" Fal
Modern Art” located?  feug ¥ ’
(A) Ii/lysore (A) ﬁﬁg
(B) Kanpur B) @RI
. (C) New Delhi: (C) &= Reelr
(D) Lucknow (D) wEeF ‘
81. Which of the following is a folk-dance |8l. fr=faf@d & ¥ FlFa IRWS &
. ? '
form of Jharkhand W_FB__J T 22
(A) Pali (A) T - '
(B) “Jhumar- (B) TR
(C) Nati (C) &Y
(D) Chhau * (D) &=
82. Which  Shakespeare’s play-- was - 82. drafRy ¥ g AcEd @ T 3ma'1'ar
translated by Bhartendu Harishchandra - ‘ e
~ . HR<ig, gReds o 1880 :ﬁ gﬁw ay
with the title ‘Durlabh Bandhu’ o &
- published in 18807 ? ar?
(A} -ulius Caesar (A) WW
(B) Othello (B) 3der
(C) Hamlet () @
' (D) The Merchant of Venice (D) & A=< IH® af
28
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'83.  Which is the smallest of the world’s .- 83. fJeg é; ﬂ'gr;n:u‘i ir '\l:ra@r arer
oceans? 'HBT\‘WT Fhrar’ %,,
(A) - Atlantic oéean (A)  3rcaifes HB‘I’HW
B) Arctic ocean (B) mm
‘(C)‘ : In:iian ocean - (C) %e; JTaTH'I?T{
(D) Pacific ocean (D) werid #gRERR
"84. Qantasis | 84. Fgiew ¥
(A) A Mexican based airline 7 . (A) QT:F Afegasa mrﬁ'a Q‘!]W]sﬂ
.(B) An Australian based airlines (B)  ww steforans smuRe waRengy
(C) A New Zealand based"carr‘ier_ (C) =gehdls R TF AEH »
(D) AlJapan based airlines - (D) s Ry e truwg'\q'
85. Wherre' is the Leonardo Da. Vinci |85. fariasf &7 R gar$ sigar @l &2
Airport? - c
(A) Rome (A) =
(B) Paris (B) Ry -
(C} Lisbon (c] ﬁﬂ-—ﬁf
(D) Magdrid (D) 3#fgs
| 86. To distinguish between a"tourist and an 86 T qdew AR sm*mm‘r#i e
excursionist  what should "be the ' W oS ¥ B Y & 313'@ T
* duration of tour? . F‘?ﬁ -
(A) 12 hours (A) 12 "
_ (B) 18hours ) (B) 18 €&
(C) 24 hours - () '24'3% |
(D)- - 36 hours - " (D) 36 ©e
g ' = R 29 P
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Part-B: General Awareness . ANOSIPTAM2023 o
87.  Which financial organization authorizes | 87. . FlT-ar e Hoaer el . et
the foreign currency dealers to buy and B ART & e A ey i s
sell foreign currency in India? ' N
' gn edrrency & fav 3fFa war &2
(A) State Bank of India (A 9RAT we &=
(B)  Reserve Bank of India (B)" s Rod &%
(C)  Ministry of Finance (C) * faeg Fare
(D) . Ministry of Home Affairs (D) 75 FATTT
e
-88.  ‘OPERA’is a 88. 3T E, U
(A) Travel Company (A) e suelr
(B) Software used for reservation of (B) gea & et & INeor F Bw
- hotel rooms 39T fRAT ST aTeT |itedeR
(C) ‘ Airlines charter cbmpany (C) wReEw AT Hus
(D) Franchise hotel chain (D) e gew el
89. In tourism and hospitality parlance, the 89. wdeaq 3R anfaew #r awT H, 'Hff?-l‘éa'
abbreviation PAX refers to A PAX # waflla fear smar &
(A) Airport transfer (A) T g
(B) Travel Passengers/guest (B) T RIEVKIGIE ]
(C) Hotel expenses (C) greer =1 @
(D) Per plate charges (D) i e qeh
90. is a very powerful pull 9. —  gdeq 3caEel & fow W
marketing  strategy for  tourism E!'g?f afFaeme fAYoRT Ry ¥
products. ‘ N
(A) Word of mouth (A) . 3rparg
(B) Trade show promotion (B) 23 o AT
(C) Sales promotion (C) fadhr Haele
(D) Exhibition (D) gl
91. Thé term 'double fault' is associated - | 91. 'éa?»r BieT A £ EC |
‘ with which game? FFA &7 '
(A)  Tennis (A) 2w
(8) Football (B)  weata ]
(C) Rugby - ) (C) ey
(D) Basketball (D) sT=Fearer
30 3
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92. When .a tourism company directs its |92, ‘J& T& qz‘raa' FUY 3T ﬁtrm?-r |
arketing  efforts at.~ channel. gt @ aﬁ T EFT i
participants to encourage 'them to -~
increase sale of tourism produg";, it is SeqG Y R we & ﬁt’ !“E E”i%EI
called T F v FERT =y & ar 59
. T ST ¥
(A) Pull Strategy (A) Pull-Stratng
(B) . Push Strategy (B) Push Strategy
" (C). Throw Strategy (C) Throw Strategy
(D) Catch Strategy (D) Catch Strategy
93. What is the Phobia (fear) of travel? 193, Irar WA () AT §? :
(A) Technophobia ‘ (A) et |
(B) Acrophobia - ’ (B) wwmImIfET
(C) Hodophobia ' (€ erermfar
(D) Androphobia (D) weRrmaE
94. Which is the’ world’s tép tourism | 94. HaTSET qded JPHT & 3TER
-_dgst,i(nation according "to international Freq @ MY Tdes T FleT G &
tourist arrivals? : :
{A) Spain (A) T
(B) UK (B) I
(C) Mexics () afFm
. (D) Frapce (D) wig
95. WTTC was established in: 95. WTTC &1 F19aT §é’ or- | <
' (A) 1980 - ' (A) 1980
(B) 1990 (B) 1990
(C) 1960 (C) 1960
(D) 1970 - (D) * 1970
96. PATA was founded in: 96. ' PATA T TUTIEAT §é
(A) 1951 (A) 1951
(B) 1952 (B) 1952
(C) 1953 (C) 1953
- (D) 1954 ° (D) 1954
31
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97. Charminar in Hyderabad was 97. tewEE & IRAFR &7 AT fpg ‘
. constructed Yto commemorate the ST & e ¥ 3ueed & far
elimination of this disease: ’
| AT AT
(A) Yellow Fever (A)  drem @R
(B) Plagye (B) e
(C) Leprosy (C) o a1
(D) Malaria (D) o
98. Splash Tourism is poﬁdlérly known as: 198, .rooter gded &y ARNT T ¥ ST
ST -
(A) | Heritage toufism (A)  Rywa g
(B) Dark tourism (B) s1h st
5 ,
(C) Monsoon tourism (C) maqqg\;rq‘ziz?r
(D) Eco téurisml (D) z= gydee
99. In which’ coﬁntry' are capsule hotels: | 99. $eHe gled fFa g F e £
popular?
(A} China (A) e
3 ,(B) Japan (B) SmUreT
(C) Malaysia- € FefREr
(D) Vietnam (D) RugaH
. 100. “ Which is -the only public tourism NlOO. ART T THAT IOoliaF  gIed
~undertaking in India? SOFT FhT -
(A) TAAl (A) Eruwaas
e
(B) IATO (B) 3TN ]
(C) iTDC (C) amgrdrdr
(D) None of these (D) s @ % ;ré‘r
32 o3
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101. When 25% is divided by 26, the 101 e 25% ﬁ 26 & Fq*a:rﬂ%ra' m TG
¢ remainder is :, . £ ar ST 2 %
A 1 (A) 1
(B) 2 (B) 2
© 24 © 2
(D) 25. (D) 25

102. The largest four-digit number exactly " 1102 g—aih‘ 12 15, 18 3111 27 J tTtﬁH
divisible by egch 12, %5, 18 aljld-27 is: s AR 3137 @r m ars°r T %‘s
(A) 9690 (A) 9690
(B) 9720 (B) 9720
(C) 9930 (C) 9930

. (D) :9960 “ , (D) 9960

103. There are four prime numbers written- | 103. ¥R 33T ey IR HA F fadr

inascpoding rder The et of 18 s ¥ T, e A o 385 ¥

ree is and that of the last three is : :
1001. The first number is: 3?\'{' et RS 1001 &l
Tgelr TEAT ¢

(A) 5 (A 5

(B) 7 {B) 7

(c 11 (0 11

(D) 17 (D) 17.

n ‘
- .

104. P, Q, R, S are four consecutive odd' [ 104. P, Q, R, S AR FATITT fawa q\vﬁa; g
integers ahd their average is 42. What is. 3#1? 17 3iEe 42 E1Q i S @
the product of Q and S?. . >

. ] TS T 2?
(A) 1860 (A) 1860
. (B) 1890 (B) 1890
(C) 1845 (C) 1845
(D) 1677 (D). 1677
33
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105.

106.

107.

108.

Which greatest number will divide 3026
and 5053 leaving remainders 11 and 13
respectively? :

(A) 15
(B) 30
(C) 45
(D) 60

The sum of the H.C.F and L.C.M of two
nunibers is 680 énd the L.CM is 84
times the H.C.F. If one of the numbers is
56, the other is:

A 8

(B) 12

(€) 84

(D) 96

If 47.2506 = 4A+—Z—+2C+%+6E, then

the value of (5A + 3B + 6C + D + 3E) is:

(A) 53.6003
(B). 53.603
(C) 153.6003
(D) 213.0003

999—1— +999£+ 999§+999—4—+
7 7 7 7

999249998 =7
. 7 7
(A) 5997
(B) 5994
(€) 5979
(D) 2997

'105.

106.

107.

108.

dT W wEd 997 Wedr 3026 3K
5053 Fr fawia A W FAA:
11 3R 13 9w s=h? ‘

(A) 15

(B8) 30

(C) 45

(D) 60

ar gEansit &1 HCF 3R LCM & amr
680 & 3R LCM, HCF #T 84 I gl

T v HEAT 56 B, o gAY &
. (A) 8

(8) 12
(C) 84
(D) 96

7

T 47.2506 = 4A+E+2C+%+6E’

ar (5A + 3B + 6C + D + 3E) &
AT &

(A). 53.6003
(B) 53.603
(C) 153.6003

‘ (D) 213.0003

9991+999¥2-+999§+999i+
7 7 7 7

999> +9998 =7
7 7
(A) 5997
(B) 5994
() 5979
(D) 2997

PEGRBIRTGEY, W # € = s
Py S Sbna

R s WO
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109. After measuring 120 meters of a’ rope, |t“‘ .| 109.
. was discovered that the meter rod was | trar W fa. Hex s 3 AT € o
_ 3cm longer. The true Iength of the rope
measured is: AT 'ﬂé T Y adfas wiars %
(A) 116 m40cm (A 116 #rex 40 JA
(B) 121m20cm (B) 121 #rex 20 |
-{C) 123m (C) 123 #h
(D) 123-m60cm (D) 123 #rex 60 WA
) 110. (fa= ﬁ,then the value of 110. I’ Qib' =£, @A ® A
.(\/‘1+a +\/1—\a)‘is: («/1+a +41- a) . ‘
(A) 3 (A) 3 3
® 7 © 4
2 . 2
y ©. (2+43) © (+v3)
o (2-43) O @-v3)
. ~ 4 . v *

111. A)‘Iibnary has an average number df 510 | 111,  w= qEcTshTery 7 fEr a#r Aaas
visitors on Sundays and 240 on other |- 510 m 3m- T fa;_ﬁ F 240
days. The average numbers of visitors z
per day in a month of,30 days beginning 3 IE-:” 311?1’ el ) ¥ q* E’Iﬁaﬁ

- $r 3rEa de %
" (A) 285 (A) 285 |
(B) 276 (B) 276 .
(C)} 250 (c) 250 '
(D) 280 . 2N (D) 280

112, A person’s income was increased by | 112. s zafFa 4T T F 25% Hr g §'§
25% and subsequently decreased by it s #F 50% @ AT §‘§I
50%. How much' percentage does he '
lose or gain? ' e ”isl!ﬁﬁmmm?ﬂ?
(A) Lossof30% (A) 30% & g

_ (B) Loss of37.5% " (B) 37.5% #r @iy
(C) Gain of 30% (C) 30% =T osT
(D) Gain of 37.5% ° ) {D). 37.5% T aTH
3 | 35,
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113. The value ~ of [113. - =
= ' &I A \[5+\/11+\/19+\/29+«72§ &
5+\/114+\/19+\-/29+«/E is: , a
(A) 3 ' ) ‘ {A) 3
(B) 5 . (B) 5
. (© 7 € 7
i D 9 | (D) o
114, The averagé age of three béys, is 16 i14. f—ﬂ?ﬂ"ﬂgﬁﬁ $r duT 3 16 a¥ §
years. If their ages are in the ratio 37T 3m° . E - Y
4.5 : 7, then the 'age of the youngest R 7 S8 F AT 4 25 1T e Y
" boyis? ar gad BIT dgF AT 3H FAT §? :
(A) 8years R (A) 8 aw ’
(B). 9years . . (B) 9 a¥
(C)-. 12vyears N ; {C) 12 a¥
, - (D) 16 vyears (D) 16 a¥
| .
115. The average of five consecutive natural  |-115. ofg - FHET UHias IJeadf &
- numbers is m. If the next three natural e CEWIT»?T T g -
0 ' nufnbers are also included, how much 'm gl = e ¢
more than m will the average of these 8 HEIm3t A Y A # foar ae, at
numbers be? T 8 FEANT & AFd m ¥ foraar
N ‘ : ‘ | Jo=w ?PTTO
* A 1 , (A) 1
L ~(B) 15 : : (B) 1.5
i () 14 ‘ . (€ 14
" (by 2 (b) 2
’l B ' ' R)
116. If the side of a square is increased by [116. 3T fdr g & ol 25% e &
| 25%, then its area is increased by: ' s, AT 3T ATF TG STaT:
T (A) 25% (A) 25%
(B) 55% . | (B) 55%
(€) 405% - N (C) 40.5%
i (D) 56.25% (D) 56.25%
‘ ' 117. Rs. 395 are divided amongX, Yand Zin | 117. 395 ¥ & X, Y 3R Z & &= =@
such a manner that Y gets 25% more SR TS fRar
than X and 20% more than Z. The share | il Y ﬁ X |
i . ,§3-flTl
" (A) Rs.198 _ (A) ¥ 198
(B) Rs.120 . _ (B) % 120
(C) Rs. 180 , (€) %180
(D) Rs.195 ' . (D) ¥ 195
- L w T TS w o i Smoecmesmaes amesms wi WOhen o ga e g omwe msom
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'118. In’an alloy, the ratio of copper and zinc | 118. ws. %&ﬁna’ -3 aﬁn' IR FEar & T
is 51 2. If 1.250 kg of zinc is mixed in
I 5:2 &l 17.500 fearens
17.500 kg of alloy, then the ratio of ﬁf & %1 ?Ii(?): i
copper and zinc in the alloy will be: T '-25 i STEdl
- . e S B, ar fAsarg 7 ofer iR
. STEAT T 3T g9, \
(A) .1:2 (A) 1:2
B) 2:1 (B). 2:1
(C) 2:3 (C)y 2:3
l (p) 3:2- (D) 3:2
a ' ‘ :
| 119. ifa:b:c=2:3:4, then a.b.c 119. afr a:bic=2:3:4, @ 2.2.c
b ca b ca
(A) 8:9:16 (A) 8:9:16
(B) 8:9:12 (B) 8:9:12
(C) 8:9:24 - (C) 8:9:24
(D) 4:9:16 (D) 4:9:16
120. A mixture contains milk and water in | 120. v fRsor F gy R uelh @ 3-1@"41?{
. the ratio 5:1. Qn adding 5 litres of 5:1 ¥ 5 dex g R W, A Iy
water, the ratio. of milk to water i I 52 @ %
becomes 5:2. The quantity of milk in the : I eI o ol el el
original mixture is: faor & g & Am R
(A) 16 litres * (A) 16 dlleX .
(B) . 22.75 litres (B) 22.75 aﬂa
(C) ~ 25 litres co (C) 25 &eX
(D) 32.5 litres (D) 32.5 @ireX
121. If y varies directly as (x+3) and y = 8 | 121. zr‘i%; X = 1 gr.‘f Wy AT (x+3) 3-1‘\1'
when x = 1. What is the value of y when = 8 % &7 F e & &1 x
x=27?
. 3’1?# Wy & AR FT %‘?
(Ay 6 ~(A) 6
(B) 10 ~(B) 10:
- (C) 12 () 12
(D) 16 (D) 16
122. The sum of the ages of five children, |122. 3-3 a¥ & 3icUe W =& 9T a4
born at the intervals of 3 years'each, is T T F AT 50 € § TR m-a
50 years. What is the age of the a—ﬁﬁ %2 :
youngest child? e - 3H T &
{A) 4years (A) 4 a¥
(B) 8years (B) 8 a¥
(C) 1Ovyears €) 10.3¢ N
(D) None of these X (D) s ¥ Fg AL
S -
3. 37
i - “m i
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123. | am 4 years-older than my sister, while 123. & 3yueAr g8 A 4 ;qrar CE) i, ST
my 'brother who is the youngest a;néhr;lg T STréa’r god e Bt &, 23,34@ 7
O e e i the age of my A gier §1 A R A ow ¥ A
brother, my sister is 18 years of age and AT = § A s H1.39 18 a¥ g
my father is 3 years older than my AN AT A A T3 av &3 gl

. mother. What is the age of my mother? A8 A ) 37 T4 &7
(A) 38years (A) 38 o
(B) 40 years (B) 40 a¥
(C) 42years (€ 423%
(D) 45 years (D) 45 @y

124. If the rate of interest be 4% per annum 124. IfE sarer H T GgA a¥ & T 4%
%for firstgesi/r, 5% per anmem E:fzecz::i gfy ¥, K\'ﬁ a¥ ¥ @ 5% ofy a¥
toon "the compound  nterest o i e & e 6% S T @
Rs. 10,000 for 3 years will be:." a3 adt & fw 10,000 ¥

: CELITACUIC UK
(A) Rs.1575.20 (A) ¥ 1,575.20
(B) Rs. 1,600 (B) ¥ 1,600
(C) Rs.1,625.80 (C) ¥ 1,625.80
) (D) Rs.2,000 (D) ¥ 2,000
. .

125. In the year 2021, what sum of r-noney‘ 125. T 2021 &, g a= 0 W 5% aia
will give Rs 1 as simple interest per day as #r & X offRe 1 U @R
at the rate of 5% per annum? 6211\?!' PO
(A) Rs.730 (A) ¥ 730
(B)" Rs. 3,650 (B) ¥ 3,650
(C) Rs. 7,300 (C). ¥ 7,300
(D)  Rs 36,500 (D) ¥ 36,500

126. By selling 100 pencils, a shopkeeper 126. 100 Y& U, TH W I
.gains ‘fhe sell.ing price of 20 pencils., His 20 et & BT HeT gTed m 3
gain pgrcent is: T T SR
(A)  25% (A)  25% '

(B) 20% - (B) 20%

(C) 15% CT () 15%

(D) 12%, (D) 12%
SR v .

Mo TANEERT i ol e
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e S e-rr—rT L =R T T

127. If a man were to “sell_his chair for |127.
. Rs. 720, he would lose 25%. To gain Juar ¥, o 3 25% F EE x|
25% he should sell'it for:
25%_r~rrs:rmqraﬂﬁ$ﬁtr3—asﬁ
’ | g TR
(A) Rs.1,200 (A) ¥ 1,200
(B)  Rs. 1,000 (B) ¥ 1,000 ‘
(C) Rs.960 (C) ¥ 960
(D) Rs.900 (D) ¥ 900.

128. A man sells an artlcle at a loss of 10%. 128. us =afadd v 9w F 10% gifd W

?adRheSbSought it :t 20%|I:S:, and. SO|dI('; m & of 38}?3@ 20% FH T -

_for Rs 55 more, he could have gaine . . e

40% What is the cost of the article? - - E'{’IET ?l'aT Y 55 T W_é’ﬂT
g, @ 39 40% T AT garl 9]

(A) Rs.200 (A) ¥ 200 '

(B) Rs.225 (B) ¥ 225

(C) Rs.250 (C) ¥ 250

(D) Rs.300 - ‘ (D) ¥ 300

129. The marked prlcé of a shirt and trousers 129. ©s o€ 3R qaam T 3{1%};{ aq—q 1:2
are in the ratlo 1 : 2. The shopkeeper ¥ JFare #F 8 GhER A w- 40%
gives 40% discount on the shirt. If the i~ e

« total discount on both is 30%, the =l ge L v R W QT
discount offered on the trousers is: 30% ¥, dF gdeE W & S arell 8T

. %.:
(A) 15% (A)  15%
(8) 20% (B) 20%
(€ 25% () 25%
(D) 30% - (D) 30%

130. A man riding his "bicycle covers 150 . 130. TH afdd AR TAEE 25 JaE A
.meKte.rs in iS se?c"onds. What is'his spe§ed‘ 150 #Hex & qfr I war ¥ fee
in'Km per hour? N .

P wfey 62 3 sE A w8
(A) 20 km/hr (A} 20 %ﬁ‘r/u?:r
(B) 21.6 km/hr (8) 21,6 freyEer
(C) 23 km/hr. Y (0) 23 feAvEer
(D) 25 km/hr (D) 25 fRiEer
39
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131 Two trains approach each. other at 131. &y gof 342 Tl oy aF vt &
St nd it tonweriees | s e 3. 1 10
will they meet? o ) il W—E;IT): & T 3T &1 PR
' He a1g fAe?
(A) 5 hours (A) 5 g
(B) 6 hours (B) 6 "¢
E (C) 7hours Q) 7 s=e
o (D) 8hours. (D) 8 &
132. Aconstableis 114 m behind a thief. The | 132. s RUEr & ¥X & 114 #Hex
?onsta'ble-ruhs 21m ar\d the'JTth 15m ¥ A B F 21 #@ew
e e e 15 e e b e
| . IR F fre T ¥ T e
. (A) 16 minutes (A) 16 A=
‘ (B) 17 minutes (B) 17 fA=c
(C) 18 minutes € 18 B=e
i ' (D) 19 minutes (D) 19 fAse
, '133. I walk a certain distarice and ride back 133. #& s @AfYag & T Heldr § Kiiry
taking a total time of 37 minutes. | Fel 37 TAee &7 AT AT A9T AT
in 55 mi . O . . , L
;,r. o g e oSy | 61155 e 2t e e
. ways? | mlﬂ?aﬁmwmﬁﬁﬂm
| J . AT RI?
(A) 19 minutes (A) 19 fA=c ’
, (B) 20'minutes (B) 20 fAeie
; (C) 21 minutes ‘ @ 21 A= - v,
" (D) 22minutes (D) 22 fAse
134. A man, a woman and a boy together 134. T T3V, s Afger 3R vF agHT
complete a piece of work in 3 days. If a AT UF FIHF & 3 BT T S
,, e om0 | 1 g s o o
woman take to complete the work? AR uF d5H IFa 18 AT A q
r R ThT §, A T ARET B 37 IR
BN QT A H hcdall AT atam?
] (A). 9 days (A) 9 e
| (B) 10 days (B) 10 fa=
: ~(C) 1idays © 11 R=
s (D) 12days D) 12 &= B .
40 ' 3

-
T
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1135. A and B yndertook to do a piece of 135.
\évc;rk for F;sB45IOO Aal:;:coulsvdc:‘ltr:n & # AT Sarr] A »,31#»?3 =
ays and B alone in ays. With thg; AP s
assistance of C, they finished the ‘work ’8 et & 3 B 12 Tt W
in 4 days. C's share of money is: Har g1 C # '\"’E"Tan q, I
4 Rt & wm qu ORI C F Y,
\ 7 e § o
(A) Rs.2,250 (A) ¥ 2,250
~ (B) 'Rs.1,5500 "(B) ¥ 1,500
(C) Rs:750 € =750
(D) Rs.375 D) §375 .
136. If x*-3x+1=0, then the value. of |136. Ffr x %-"3x +1=0@a x+l T
1 : X
X+— s ‘ ’
X AH.§
(A) 0 (A) 0°
. ) \
(B) 1 (B) « 1 ;
Q) 2 € 2
(D) 3 D) 3 ,,
. % ;\'
RO I A S B 1
137: If x=6+=, then the valye of x*+— |137. I x= 6+— L xt +——- FART &
is: V )
(A) 1448 (A) 1448 ‘
(B) 1442 (B) 1442
(C). 1444 | (C) 1444
(D) 1446 \ (D) 1446
138. "A,man had some hens and. cows. If the |138. & I & 9 7. ziﬁitﬁ' v T
number of hests be. 48 and the. | gy o ety ot 48 N K
numbers of feet equals , then the
number of hens is: . i T 140 FRR A, AT &
T &
(A) 22 (A) 22
(B) 23 » ‘ (B) 23
cy 24 ’ (C) 24 \A
) 26 (D) 26 .
< ‘ a1 ’
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139. How many meters of carpet 63 cm wide | 139. 14 #Hiex T 9 AKX & TH FAY F
) will be required to cover the floor-of a w #T EE ¥ T 63 _e Wl -
room 14 m by 9 m? 4 .
: yer FIeleT T el Jaeamar gl
(A) 200 m (A) 200 #r
(B) 2;’0‘m (B) 210 #r
(C) 220m C) 220 &
(D) 185m (D) 185 #r
140. A rectangular courtyard 3.78 m long. | 140. 3.78 #Hiex o 31T 5.25 Hex =l
and 5.25 m'broad is to be paved exactly AR m' N WeFdT gHET
with square tiles, all of the same size.. - TN ° ;
The minimum number of such tiles is: HIPR TS )
ST 31 O eBed N SgeTaH qEdT
» ! %.: ’ ° y
(A) 430 (A) 430 o
(B) 440 (B) 440
(C) 450 " (C) 450 .
(D) 460 (D) 460
ﬁ’ 141. 12 spheres of the same size are made | 141. 16 ¥ =o® 3K 2 V& Fa & &
by melting a solid ¢ylinder of 16 cm 3 RdEr B NuaeR & & 3ER
diameter and 2 ‘cm height. The - | R - ;
diameter of each sphere is: % 12 ,m AT S & S e
(A). fZem ;. NCE
| (B) 2cm (8) 2
(C) 3cm () 3@
‘ (D) 4cm (D) 4 |
‘ 142. The curved surface area of a circular 142, ©= EGICaRS TAH H w dg
pillar is 528 m? and its volume is ST 528 A2 ¥ 3R sEET A
2772 m>. The height of the pillar is: . . :
| ; 2772 AP E| wH H FAR B
| (A) 105m ) (A) 105 #r
. (8) 7.5m (8) 753
(© &m (© 8
(D) 5.25m (D) 5.25 #r
a .42
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DlreCtlons (Qs 143 to 145) Study the table carefully to answer the questions that follow.

*  Department Total Number of '|. % of Females % of Males
i . Employees,
_ [ CustomerService | ~ 540 40 60
Marketing 450 44 . 56
HR =« 360 65 35
Production 900 23 77
Accounts 220 35 " 65.
1T 840 45 55
ﬁerrﬁ'&&r-(ma 143# 145)marﬁmat$maﬁa?ﬁvamwtmmw
g ;
Tasmer mﬁ'a’rﬁrgu‘ar Afgamit &1 % THSt A %
| g @qar . 540 40 60
Tagorey 450 44 56 b
HAleTg FaTE 360 65 35
| 3cqrgeT 900 23 77
. e frae 1220 35 .- 65
{amss 840 45 55
143. What is the respective ratio‘ of the 143. #rg gEeer 3R o e -8
" number of females in the HR and | RaeT ARemat. f dear @ ol
Accounts department together to the : e e L.
number of males -in the. same - ia. 3_”” Gl ii'E!”Em 3° it ower @
department together? e ST AT 82
(A) 3113269 (A)- 311:269,
(B) 268:319 (B) 268:319
(C)- 269:311 (C) 269:311
(D) 319:268 (D) 319 : 268 .
144, The total number of employees in the 144. FAg. e e # wraidl &
; HR department forms approximately ) el e T ﬁ‘éﬂ?T ﬁ At @ .
what percent of the total numbers o? R Y,
employees in the Accounts . m HEAT A IEI I AT
department? . '
(A) 149 (A} 149
‘(8) 178 (B) 178
(C) 157 () 157
(D) 164 (D) 164
145. What is the total number of males in 145, IS 3R IEh Har ﬁ:ﬁm H B
the IT ang;’customer service department m B Fe g e 37
together? 2 2
(A) 687 (A) 687
(B) 786 (B) 786
(C) 768 (C) 768
(D) 876 (D) 876
-8 13

£ - == P
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146. Find the compound ratio of 2: 7, 5 3 and 146. 2:7, 5 3 3 47 v ﬁf&a 3reqard '
a7 A1 T
(A). 147:40 (A) 147:40
(B) 40:147 (B) 40:147
(C) 147:30 (C) 14730 _
(D) 30:147 (D) .. 30:147
147. Moving g of its usual speed, a train is | 147. T&d g g TF T 10 e & &
10- minutes late. Find its usual time to ToIdr &1 AT AT e H FATT
cover the journey. AT T AT
(A) 25 minutes (A) 25 fReTe
(B) 15 minutes (B) 15 f&=e
(C) 35 minutes (C) 35 fAse
(D) 60 minutes (D) 60 fA=T
148. A man sold two houses for Rs 96,000 | 148. U@ 3MgHY o & WX W% I 96,000
) each. In the sale of first house, he T F N Tge WA A A
incurred 20% profit and in the sale of 20% e £
second house, he incurred 20% loss. 0% =T e 6’3‘" q‘cﬁ‘- W -
What is the gain or loss percentage in R & =Y 20% A gl 3@' Hel o
total? 7 g gfdera & g2
(A) 6% gain (A) 6% @
(B) 6% loss - (B) 6% gIfer
(C) 4% gain (C) 4% =T
(D) 4% loss. (D) 4% g
149. The numerator of a fraction is 4 less 149. TR Moy &7 377 3TF & H 4 A
than its denominator. If numerator !s ' ¥ ofy s @1 2 & wer ﬁ{'&T ST 3K
decreased by 2 and denominator is N - ar .
increased by 1, then the denominator e 1 el oITe, ey, 3
becomes 8 times the numerator. Find # 8 A g ST gl Bew
the fraction. HITAT.
n 32 a) 3
| 7 7
4 : 4
B) = B) =
( - (B) =
' © 2 © 2
7 7
: o 3 o) 3
8 8
150. Find the unit digit of (4137)"*%, 150. (4137)™ &7 gTE 3 AT P |
(A) 9 (A) 9
(B8) 7 (B) 7
(cy 3 () 3
(D) 1. (D) 1
44 ‘ 3
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PART-D: ENGLISH COMPREHENSION ;o

Choose the correct answer from the

Give synonyms of the following : ﬁ

option: 156. Antipathy
151.-Alphabet apart from ' consonants are (A) like .
called ' - - (B) dislike”
' 7 C hate
(A) TRIPTHONGS - SD'). oy
(B) .  VOWELS {D) love
(C) DIPTHONGS o .
(D) ‘MONOPHTHONG ) Fi_ll’ in the blanks with the correct
4 Articles: ‘
152. A -word that modifies/qualifies a noun or
. noun phrase is ¢alled ’
(A‘j Adverb 157. Mr: Gaurav is ; honest:
(B) Verb employee of our cdmpany. 3
(C) . Adjective (A) a
. (D) Conjunction (B)f the .
' Give one word answer for the following. tg-)) ~ -a:
“ , that
153. A specialist in child djseases is a
(A) Orthopedician .
(8) Gynecologist - 158. She is Best dancer of our
’ (C) ©Oncologist. group.
(D) Pediatrician o
(A) an 2"
154, A person_who deceives somebody in (B) the '
order to make mgney- ’ () a .
(A) cheater . (D) this
(B) traitor ,
(C) infiltrator X E
. (D) fraud. 159. My friend got " smart :
’ watch on his birthday.
155. One who walks on ropes
4 * (A) an
(A) gymnast (B) -a
(B) an acrobat F('C) the
(C) ah athlete - ‘ ) fﬁese
(DY ' a coach N
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160.

, 161

162.

o . 163.

b 165.

164.

Choose the correct determiners from the
following :

Without delay we
‘urried to the hospital. .
(A) some
(B) more
(C) any
(D) alittle
It is a shameful habit
father taught you.
(A) my
(B) his
(C). their
(D) your
People are atheist in the
world.
(A) little
{B) much
(C) some
. (D) each

Choose the correct preposition

The book is- :the table.

(A) on

(B) above

(C) over

(D) upon

My office is situated a
bank and a shopping complex.

{A) among ’

(B) beside -

(C) .between

(D) at

Distribute the sweets all
the students.

(A) between

(B) among
(C) by .

(D) in

166.

167.

168.

168.

170.

171.

the age of tén she -
crossed the English Channel.

(A) in
(B) by
(C) on
(D) at

He is arriving from -Delhi

Monday.
(A) on
(B) in

- (C) at
(D) into

Choose appropriate Conjunction : -

Shubash Arun are gpod
friends.

(A) is

(B) are

(C) and

(D) but -

You will not win the race -

you run fast.

(A) till
(B) until
(C) unless
(D) lest
You will find me you go.
(A) - whenever
(B) whosoever
(C) where ever
(D) where
| know, he is a dentist.
(A) sofaras ‘
(B) asfaras
(C) nolongas
(D) as much as

s 4l \d!\"ﬁ £
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Correct the errors in-the glven sentences 179. To make hay while the
hines.
172., Many a man -have been dreaming of a S nes
well settled life. . N (A) sun -
(A) had (B) moon .
- (B) has | (C) jupiter *
- 1{Q) .havmgf . : (D) mars -
(D) are '
.o /
173. All india Radio broadcasted a very. Choose the word nearest in the mganmg
interesting programme last evening. (synonyms)
(A) " broadcasts 5 . e
(B) "broadcasting - 180. Io Q_bjeCt , . )
(C) broadcast (A) disapprove ‘ N
(D) ho error (B) challenge ’
. ) ' (C) ~ deny
174. Slow ahd steady wins the.race. (D) disobey
(A) won T =
(B). win . 181. To untie o
(C) ~ winning ‘ _
(D) no_error > (A) -unfold
A (B) unchain
~ 175. Many of us do riot-know to swim. (C) undo
(A) to’ sw:mmmg (D)_ unhmﬁgew
(B) howtoswim L - s
(C) to:swam-. 182. Reckless )
(D)- . no error - (A) courageous i
- : ‘ (B) rash S :
Comglete the idiomatic expression. (C} bold
. (D) daring
176. “To add fuel to the
(A) ~ Wwater V Choose the opposite of the word given
, (B)" sugar : ~ (Antonyms) w
Q) fire S
(D). salt_ - ;
183., Letting L 5
177. Tocutasorry (A) der’nhéhding -
(A} -figure ' (B) permitting
(B) * picture (C) disallowing
. (C) photo (D) refusing (
(D) structure . :
178. To cry over " — milk. 1§4' Forbid .
(A) spill « (A) appeal * .
(B) spilled P (B) disp;bse
C) spilt :(C) examine
| (D) fallen (D) permit
(B ' 47 - -

P
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185.

186.

187.

188.

189.

Fill in the blanks with correct question

tags:

He is a very wise man

Kites.

(A) fly

(B) flying
“(C) flies

(D) flown

?
(A)  isn’the?
(B) doesn’t he?
(C) ishe?
(D) didn’t he?
She isn’t very old s 7
(A) isn’t she?
- (B) isshe?
(C) doesn’t she?
(D) doesshe?
They will come tomorrow ?
(A)  will they? -
(B) dothey?
(C) won’tthey?
(D) don’t they?
Fill in the blank withsuitable verbs.
They will be A tomorrow.
(A) arrived
~ (B) arrive
(C) arrives’
(D) arriving
Children usually love to

190.

T 191,

192.

193,

Choose the correct Tense from the

following:

‘Kavita sang a melodious song.

(A)
®)
@

(D)

present indefinite

future indefinite

“past indefinite

present continuous

~

She will apply forthis job.

(A)
(B)
(C)
(D)

future continuous
past perfect
present perfect

future indefinite

Fi]l in the blanks with MODALS.

l-come in sir?

(A)

You

(B)
(€)

may
can
shall

will

obey your parents.
should

must

will

shall

48
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Read the following passages' ‘carefully.
and answer the questions given below:

Aristotle considered human nature, habit
and reason to be equally important forces
to be cultivated in education, the ultimate
aim of which should be to produce good
and virtuous citizens. ‘He proposed that
teachers lead their students systematically,
and that repétition be-used as a key tool to
develop good habits, unlike Socrates'
emphasis on ‘questioning his listeners 'to

bring out their.own ideas. He emphasized
the balancing of the theoretical and .

practical aspects of subjects-taught, among
which he explicitly: mentions. readinhg,
wntlng, mathematics, music, physical

education, Ilterature, hlstory, and a wide .

range of sciences, as well'as play, which he
also considered important.

‘During the- Medieval period, the idea of
Perennialism was first formulated by
St. Thomas Aquinas in his work
"De Magistro"..Perennialism holds that one
should teach those things deemed to be of
everlasting importance to- all people
everywhiere, namely
reasoning, not just facts, which are apt to

change over time, and -that one should

teach first about ‘people, not machines .or

" techniques. It was originally -religious in

nature, and it ‘was-only-much later that a
theory of secular perennlallsm developed.

During the Renaissance, the French'skeptic -
. Michel de Montalgne (1533 - 1592) was

one- of the first to critically look at
education. = Unusually for his - time,
Montaigne was willing to question the
‘edifice wisdom of the period, calling into
question the whole edifice of the
educational system, and the implicit
assumption  that  university-educated

philosophers were necessarily wiser than -

uneducated farm workers, for example. -

194. What according to Aristotle. was the

ultimate aim of education?

(A) Cultivate habit of human nature

(B) Systematically teachers, to lead
students to good habits

(C) To produce righteous citizens,

(D) To bring out students own ideas

principles and .

195.

196.

197.

198.’

199.

200.

Aristotle did not agree with Socrates
about
(A) Questioning'forreasoning

(B} Questioning for understanding
(C)  Questioning for bringing out own

ideas
(D). Questlonlng to prove-one rlght

The. word ‘Renaissance’ is derived from.

the —— - language.

(A) - English

(B) Italian

(C) Latin .
(D) French P

Skeptic is a person A

(A)  Who is rational in thoughts

(B) .Who denies the possibility ~of
knowledge .

(C) Who believes in rational thinking

(D) Who accépts knowledge of all types

Explicitly-is antonym’b_f

(A) Overtly
(B) Implicitly |
(C) Utterly

(D) Impishly

Rewrite the followihg sentences in direct
or indirect speech:

The boy told his

examination was-over.

(A) The boy said to hIS father "My
examination is-over."

father that his

(B} The boy said to his father, "My

-examination was-over."

(C) The boy told his father, "My
examination are over." .

(D) The. boy told his father, "His
.examination are over." '

| said to m"y classmate, "Please lend me

your cycle." ' '
(A) l-ordered my classmate to lend me
his cycle. '
(B) I advised my classmate to .lend me
: his cycle. :
(C) 1 requested my classmate to lend
- me his cycle.

(D) | forbade my claasmate to Iend me

: hIS cycle -

Fs
-
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el SBRCA

14, Each correct answer will be given one (1) mark. There will be

12.  Duration of the examinatior is two (2) hours and. there are
" 200 Multiple Choice Questions (MCQ).

13.  Candidates are required to mark the correct answer against the
serial number of the question in the OMR sheet. Candidates
giving more than one answer for a question, the answer will be
treated as wrong. '

negative marking of 0.25 marks for each wrong answer.
Candidates are, therefore, advised to keep this in mind while
answering the questions.

15.  You will be supplied the OMR Sheet separately by the
Invigilator, You must complete and code the details of Name,
Roll Number and- Booklet Number in the OMR Sheet

carefully. You must also put your signature and Lefi-Hand|"

Thumb impression on the-OMR sheet.at the prescribed place
before you actually start answering the questions. These
instructions must be fully complied with, failing which, your
answer sheet will riot be evaluated.

16.  Failure to comply with any ‘of the above instructions will
render a candidate liable to such action/penalty as may be
deemed fit.

17. “Mobile phones and wireless communication devices are
completely banned in the examination halls / rooms.
Candidatés are advised not to keep mobile phones / any other
wireless communication devices with them even in switched
off mode, in their own interest. Failing to comply with this
provision will be considered as.using unfair means in the

examination and action will be taken against them including|

12. m@ﬁma(z)ﬁ%ﬁﬁﬁwmemﬁm

13, IufigaR H IW 9 (AR § =T F difws TR F 7 ;W
Et ﬁ%ﬂ*ﬁﬁﬁl@ﬁ%m@%mm%aﬁ
IefieaR &I IO Terd WAL S|

14, 5 wd IR R (1) s R o e e e 3 R
0.25 3% F THEOEH b B F@R, eficETd H A H
T 3 g R F T i werg § s R

15. Bfgs g e LR, e oem & € wwf .
S, ufyt # Prmmeeht ¥ FHER SEgEE JO AW, Ve TR AR
WWWWIM%mwﬁmmﬁwﬁ
0w, o W Fruiia e § o o gEme ok o gy
¥ SR w1 P Wt ored ) Sud PR w1 O e e
form ST i, arren ST SERafiE W sifen 7€ e

16. Iuive fFE ot STRW ® WeW 7 BH W IR R fEwgan
T R wd } A g T o w2

17, “ofar v / # § Aager BT 7o AR G qA [ /E
Afig & saficart # 97% st R F aor & wt @ % @
TTET BT/ FH AR TR G w T oE W W o

. O 7 @ 59 WA ST G T A R W 7 i v

cancellation of their candidature and future debarment from g g4 '@ afa faar wrem!”’
appearing in examinations.” '
MANNER IN WHICH ANSWERS ARE TO BE GIVEN I R i

| Answer Sheet.

‘ Example:

Explanation: In the above example, the correct answer is ‘Euclid’ and

Directions: Each question or incomplete statement is followed by four
alternative suggested answers or completions. In each case, you are
required to select the one that correctly answers the question or
completes the statement and blacken appropriate circle A, B, C or D by
Black/Blue Ball Point Pen against the question concerned in the

‘The following example illustrates the manner in whxch the questions
are required to be answered.

Question No. 35'-
Who is the father of Geometry?

(A) Aristotle
(B) Pythagoras
(C) Kepler
(D) Euclid

this answer has been suggested at ‘D’. Accordingly, the answer is to be
indicated by blackening the circle by Black/Blue Ball -Point Pen in
column ‘D’ against Question No, ‘35" in the manner indicated below:

Question No. ‘35’-

There is only one correct answer to each question, You should blacken
‘the circle of the appropriate-column, viz. A, B, C or D. If you blacken
more than one circle against any one question, the answer will be
treated ‘as wrong. Any change/correction in the responses or use of]
correcting fluid is prohibited.

You are NOT required to mark your answers in this Booklet.

fiw: QT W oUal TAF AR YA H WG 9K I YA Teh HUA
FTT TG 31 YAF T § e ReE T B G & I H A IW
YT BYR T [ H IR AR IR I F I T T A, B,
Cai D= w& / Hiet aie WEe 3 & wren o7 21

£ R 7u IEE ¥ wE B wnow 5 3w e wn R R

I
T, 635
Rarfitd % S S R 7

(A) I

(B) wrUmiRE

(C) F=w

(D) FF
T IT0 SaEw §, Wl s g § oft 3® Sw D’ § geE
T R1 3: WSS 435" & W Hiew “D’ F MeneR TR A B /
ﬁémwﬁzﬁ?mvﬁ?mmﬁ%mﬁﬁﬁamiﬂ%

OO0

i YIS T € gl oW B v Shi@ wiewm 99 A, B, C A
D ¥ Mok TR St wen v § AR o e ot e & e w
SR SR TR 9 e B, A JGH IW Te qET | KN A
Y whada/ g g W 3w ahia 81

Nmaﬁsag@mﬁmmﬁﬁ%ﬁwaﬁmﬂﬁﬁlmﬂaﬁ'

| 9 6, £35'-

All answers must be indicated in the Answer Sheet only.

et v g 7 3P g IR =i
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Time allowed: 2 hrs. ANSWER KEY MM: 200
1. D 41. C 81. D 121. B 161. D
2. A 42. D 82. D 122. A 162. C
3. C 43. D 83. B 123. C 163. A
4. B 44. A 84. B 124. A 164. C
5. C 45. B 85. A 125. C 165. B
6. C 46. A 86. C 126. A 166. D
7. B 47. D 87. B 127. A 167. A
8. C 48. B 88. B 128. C 168. C
9. D 49. C 89. B 129. C 169. C
10. D 50. D 90. A 130. B 170. C
11. B 51. B 91. A 131. B 171. B
12. A 52. A 92. B 132. D 172. B
13. C 53. C 93. C 133. A 173. C
14. B 54. C 94. D 134. A 174. D
15. D 55. D 95, B 135. C 175. B
16. D 56. D 96. A 136. D 176. C
17. € 57. C 97. B 137. B 177. A
18. C 58. A 98. C 138. D 178. C
19. C 59. B 99. B 139. A 179. A
20. C 60. C 100. C 140. C 180. B
21. D 61. A 101. D 141. D 181. C
22. A 62. C 102. B 142. C 182. B
23. D 63. B 103. A 143. A 183. C
24. D 64. A 104. C 144. D 184. D
25. B 65. C 105. C 145. B 185. A
26. D 66. B 106. D 146. B 186. B
27. C 67. D 107. C 147. D 187. C
28. B 68. A 108. A 148. D 188. D
29. B 69. C 109. D 149. A 189. A
30. A 70. A 110. A 150. A 190. C
31. A 71. D 111. A 151. B 191. D
32. B 72. A 112. B 152. C 192. A
33. D 73. D 113. A 153. D 193. B
34. C 74. D 114. C 154. D 194. C
35. C 75. A 115. B 155. B 195. C
36. B 76. A 116. D 156. D 196. D
37. D 77. C 117. B 157. C 197. B
38. A 78. B 118. B 158. B 198. B
39. C 79. D 119. C 159. B 199. A
40. C 80. C 120. C 160. C 200. C
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